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1 . Marcu s’s fav orite casserole recipe requ ires 3 eg g s and
mak es 6 serv ing s. Marcu s will modify th e recipe by
u sing  5 eg g s and increasing  all oth er ing redients in th e
recipe proportionally. Wh at is th e total nu mber of 
serv ing s th e modified recipe will mak e?
A. 0 6
B. 0 8
C. 1 0
D. 1 2
E. 1 5

2 . Th e 3 5 -member History Clu b is meeting  to ch oose a
stu dent g ov ernment representativ e. Th e members
decide th at th e representativ e, wh o will be ch osen at
random, CANNOT be any of th e 3 officers of th e clu b.
Wh at is th e probability th at Hirok o, wh o is a member
of th e clu b bu t NOT an officer, will be ch osen?

F. 0

G.

H.

J.

K.

3 . For wh at v alu e of x is th e equ ation 2 2 x + 7 = 2 1 5 tru e?
A. 0 2
B. 0 4
C. 1 1
D. 1 6
E. 4 4

4 . Let th e fu nction f be defined as f(x) = 5 x2 − 7 (4 x + 3 ).
Wh at is th e v alu e of f(3 ) ?
F. −1 8
G. −2 6
H. −3 3
J. −6 0
K. −7 5

4___
3 5
1___
3 5

1___
3 2

1__
3

5 . A wallet containing  5 fiv e-dollar b ills, 7 ten-dollar
bills, and 8 twenty-dollar bills is fou nd and retu rned to
its owner. Th e wallet’s owner will reward th e finder
with  1 bill drawn randomly from th e wallet. Wh at is
th e probability th at th e bill drawn will be a twenty-
dollar bill?

A.

B.

C.

D.

E.

6 . Th e ABC Book  Clu b ch arg es a $ 4 0  month ly fee, plu s
$ 2  per book  read in th at month . Th e Easy Book  Clu b
ch arg es a $ 3 5  month ly fee, plu s $ 3  per book  read in
th at month . For each  clu b, h ow many book s mu st be
read in 1 month  for th e total ch arg es from each  clu b to
be equ al?
F. 0 1
G. 0 4
H. 0 5
J. 0 6
K. 7 5

7 . In parallelog ram ABCD below, AC
___

is a diag onal, th e
measu re of ∠ABC is 4 0 °, and th e measu re of ∠ACD is
5 7 °. Wh at is th e measu re of ∠CAD ?

A. 4 0 °
B. 5 7 °
C. 7 7 °
D. 8 3 °
E. 9 7 °

1___
2 0

4___
5 1

1__
8

2__
5

2__
3
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GO ON TO THE NEXT PA GE.

MA THEMA TIC S TEST
6 0  Min u tes—6 0  Qu estio n s

ACT-1 8 7 4 FPRE

2 2
D IREC TIONS: Solve each  problem, ch oose th e correct
answer, and th en fill in th e corresponding  oval on you r
answer docu ment.

Do not ling er over problems th at take too mu ch  time.
Solve as many as you  can; th en retu rn to th e oth ers in
th e time you  h ave left for th is test.

You  are permitted to u se a calcu lator on th is test. You
may u se you r calcu lator for any problems you  ch oose,

bu t some of th e problems may best be done with ou t
u sing  a calcu lator.

Note: Unless oth erwise stated, all of th e following  sh ou ld
be assu med.

1 . Illu strative fig u res are NOT necessarily drawn to scale.
2 . Geometric fig u res lie in a plane.
3 . Th e word lin eindicates a straig h t line.
4 . Th e word averageindicates arith metic mean.
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8 . Wh en x = , wh at is th e v alu e of ?

F. 0

G. 0 2

H. 0

J. 0 5

K. 1 0

9 . In th e standard  (x,y) coordinate plane, wh at is th e 
midpoint of th e line seg ment th at h as endpoints (3 ,8 )
and (1 ,−4) ?

A. (−2,−1 2)

B. (−1 ,0 −6 )

C. 1 ,− 2
D. ( 2,0 2)

E. ( 4,−1 2)

1 0 . Th e flu ctu ation of water depth  at a pier is sh own in th e
fig u re below. One of th e following  v alu es g iv es th e
positiv e difference, in feet, between th e g reatest water
depth  and th e least water depth  sh own in th is g raph .
Wh ich  v alu e is it?

F. 0 3
G. 0 6
H. 0 9
J. 1 2
K. 1 9

1 1 . Wh at is th e slope of th e line th rou g h  (−2,1 ) and (2,−5 )
in th e standard (x,y) coordinate plane?

A.

B. 1

C. −1

D. −

E. −4

8 x − 3______
x

1__
2

1__
2

5__
2

3__
2

1 1___
2

 0  2  4  6  8  1 0  1 2  1 4  1 6  1 8  2 0

1 2
1 0
8
6
4
2
0

number of h ours after 6  a.m.

de
pt

h 
(f

ee
t)

3__
2

3__
2

1 2 . In Ch erok ee Cou nty, th e fine for speeding  is $ 1 7  for
each  mile per h ou r th e driv er is trav eling  ov er th e
posted  speed limit. In Ch erok ee Cou nty, Kirk  was
fined $ 221  for speeding  on a road with  a posted speed
limit of 3 0 mph . Kirk  was fined for trav eling  at wh at
speed, in miles per h ou r?
F. 1 3
G. 1 7
H. 43
J. 47
K. 6 0

1 3 . Wh at is th e su m of th e solu tions of th e 2 equ ations
below?

0 0 0 0 8 x = 1 2
2y + 1 0  = 22

A. 0 2

B. 0 7

C. 0 9

D. 1 0

E. 1 7

1 4 . Th e av erag e of 5  distinct scores h as th e same v alu e as
th e median of th e 5 scores. Th e su m of th e 5 scores is
420 . Wh at is th e su m of th e 4 scores th at are NOT th e
median?
F. 3 1 5
G. 3 20
H. 3 3 6
J. 3 5 0
K. 3 6 0

1 5 . Wh at is th e v alu e of th e expression below?

⎪⎪−8  + 4⎪ − ⎪3  − 9 ⎪⎪
A. −1 8
B. 0 −2
C. 0 0
D. 0 2
E. 1 8

1 6 . Wh ich  of th e following  expressions is equ iv alent 

to x ?

F.

G.

H. √""x3

J. 3√"x

K. 3√""x2

2__
5
1__
2

1__
2

2__
3

x2___
3
x(2)____

3

GO ON TO THE NEXT PA GE.ACT-1 8 7 4 FPRE
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